

CASH \*

Phones: (800) 444-5247 (JAGS)

(805) 594-1585

(805) 544-1664 E-mail: xksunltd@aol.com

Jaguar: www.xks.com Land Rover: www.xkslandrover.com

Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page

000000 Job Number 2 002438

PO#

SA Code AY

GLD

8/11/2005

8:08:31

S H

Unit

D

112 JAGUAR E-TYPE SERIES I 196

MAKE JAGUAR

MODEL JAG E-TYPE 4.2

YEAR 1967 TRANSMISSION TYPE MANUAL STYLE COUPE WIN# 1E33790 MILEAGE 26894

COLOR PHONE

\* STATUS/COMPLAINT

RESTORATION MODEL JAGUAR E-TYPE

FAX COPIES OF STATEMENT!!!!! REF.P.O.#

WHITE

VIN.# 1E33790

Operation Description COOLING SYS COOLING SYSTEM REPAIRS AND RESTORATION

Install alloy rad and hd fan

Mechanics Name Shop Description Date Rate Tax Hours Total 2005/07/20 MIGUEL ACEVES DEFAULT 1.00 75.00

HOOK UP COOLANT HOSES. BOLT ON INTAKE.

Part Number <u>Description</u> <u>Ret</u> Qty Core Tax Each Total 17 9706 ALLOY RADIATOR 1 1263.8100 Y 1263.81 09 5005 HOSE KIT E 4.2 1 105.4000 Y 105.40

\*\*\*\* Assembly contains the following parts:

CO 19798-9 1.00 HOSE 1.00 09 14999-1 HOSE 1.00 09 15099 HOSE

1.00 HOSE- E TOP 09 16767 1.00 09 17777

HOSE HEATER HEATER 1.00 09 177 38 1.00 HOSE, HEATER 09 17779

1.00 09 24579 HOSE, E-TYPE 1.00 09 24580 COOLING HOSE

TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HANDLING	MISCELLANEOUS	LABOR	TAX



850 Fiero Lane San Luis Obispo, CA 93401 CASH \*

D

Phones: (800) 444-5247 (JAGS)

(805) 594-1585

Fax: (805) 544-1664

E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

B.A.R. #AH 141586 EPA #CAL 000039637

Job Number

PO#

ESTIMATE

000000 2 002438

SA Code AY Y

GLD

8/11/2005

8:08:31

Price

131.25

		S
		Н
		1
		Р
		Т
		Ô

09 24604 1.00 HOSE, E-TYPE 1.00 09 25124 HOSE, HEATER 1.00 09 4399 HOSE, HEATER 17 703-2444 RADIATOR CAP 1 9.7400 Y 9.74 09 14999 HOSE, BYPASS 1 6.9800 Y 6.98 09 24578 COOLING HOSE 1 10.8100 Y 10.81 17 3584 EXPANSION TANK 1 455.1200 Y 455.12 CO 8975 RADIATOR MOUNT 4 1.6800 Y 6.72 17 1587 PERF. CAMS 1 315.4300 Y 315.43 1 CO 45086 2-POLE SWITCH Y 16.2600 16.26 CO 45073 LINK LEAD 1 28.8800 Y 28.88 CO 23234 THERMO GASKET 1 2.9000 Y 2.90 CO 27650 THERMOSTAT, 160 1 5.4500 Y 5.45 JA JLM638 SENDING UNIT 1 7.5100 Y 7.51

Operation Description GEARBX/CLUCH GEARBOX AND OR CLUTCH Install five speed conversion

MOTOR TO BE PUT INTO CAR.

Mechanics Name Shop Description Date Hours Rate Tax Total ERIC MESMER DEFAULT 2005/07/14 5.50 75.00 412.50 PUT 5 SPEED TRANY ON MOTOR AND PUT ON SLAVE CYLINDER. PREP

ERIC MESMER 2005/07/21 1.75 DEFAULT 75.00 DISASSEMBLE ALL GAS THROTTLE. MACHINED TO FIT PROPERLY. AD-JUST TRANY REAR MOUNT TO CLEAR CROSS MEMBER. CUT TRANY HEAT SHIELD TO FIT.

Part Number	Description	Ret	Qty	Each	Core	Tax	Total
17 0004	5-SPEED KIT		1	4442.0300		Y	4442.03
SH DRIVE LINE	DRIVE LINE		1	412.5000		Y	412.50
CO 2226	PILOT BUSHING		1	4.8500		Y	4.85
04 2044	CLUTCH COVER	S E		308 = 8500		Y	308.38

Operation Description Seq Tax Price SUSPENSION SUSPENSION REBUILD / RESTORATION 3

TOTAL UNITS PART TOTAL CORE TOTAL SHIPPING & HA	NDLING MISCELLANEOUS	LABOR	TAX

Seq

2

Tax



850 Fiero Lane

San Luis Obispo, CA 93401 CASH \*

SOLD

Phones: (800) 444-5247 (JAGS) (805) 594-1585

(805) 544-1664 Fax: E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE

000000 Job Number 2 002438 PO#

SA Code AY

GLD

8/11/2005

8:08:31

Suspension check and rebuild Up-grade with sport suspension Install light weight style whees

Mechanics NameShop DescriptionDateHoursRate TaMIGUEL ACEVESDEFAULT2005/05/137.0070.00N	x Total
MIGUEL ACEVES DEFAULT 2005/05/13 7.00 70.00 N	490.00
REMOVE FRONT SUSPENSION PARTS. REMOVE IRS.	155.00
MIGUEL ACEVES DEFAULT 2005/05/16 2.50 70.00 N	175.00
DISASSEMBLE SUSPENSION PARTS TO SAND BLAST AND CAD PLATE.	
PUT ON DOLLY TO MOVE AROUND.	100 50
MIGUEL ACEVES DEFAULT 2005/05/17 1.75 70.00 N	122.50
PUT CAR BODY ON DOLLY. STEAM CLEAN IRS. MIGUEL ACEVES DEFAULT 2005/05/20 2.00 70.00 N	140.00
	140.00
DISASSEMBLE REAR SUSPENSION IRS.	175 00
MIGUEL ACEVES DEFAULT 2005/05/26 2.50 70.00 N	175.00
REMOVED BUSHINGS ON RADIOUS ARMS. REMOVED SHOCKS FROM COILS	
AND PAINT COILS.  MIGUEL ACEVES DEFAULT 2005/06/06 .50 70.00 N  CHANGE PINION SEAL	35.00
MIGUEL ACEVES DEFAULT 2005/06/06 .50 70.00 N CHANGE PINION SEAL	35.00
CHANGE PINION SEAL MIGUEL ACEVES DEFAULT 2005/06/07 7.00 70.00 N	490.00
REMOVE STUB AXLES TO REBUILD AND RESEAL. REMOVED DIFF COVER	490.00
TO RESEAL	
MIGUEL ACEVES DEFAULT 2005/06/08 3.00 70.00 N	210.00
PRESS SHOCKS INTO SPRINGS. PRESS IN BUSHINGS INTO RADIOUS	210.00
ARMS. SAND BLAST AND PAINT DIFF COVER.	
MIGUEL ACEVES DEFAULT 2005/06/09 3.00 70.00 N	210.00
REMOVED STEERING RACK AND RADIATOR. REMOVED COOLING TANK AND	
REMOVED LOWER CONTROL ARM BUSHINGS AND PUT ON NEW ONES. BOLT	
ON DIFF COVER.	
MIGUEL ACEVES DEFAULT 2005/06/10 1.50 75.00 N	112.50
BOLT ON LOWER CONTROL ARMS. BOLT ON RADIATOR. BOLT ON LOWER	
PALL TOINTS	
MIGUEL ACEVES DEFAULT S SOO FOODS P3.50 75.00 N	262.50
BOLT ON UPPER CONTROL ARMS AND HOOK UP TOURSION BARS. PUT	
NEW WHEEL BEARINGS AND ROTORS ON FRONT SUSPENSION.	
MIGUEL ACEVES DEFAULT 2005/06/14 3.50 75.00 N	262.50

TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HANDLING	MISCELLANEOUS	LABOR	TAX
expressly disclaims all warra purpose, and neither assume	ınties, either express or implied, includi es nor authorizes any other person to a	e that may be offered by the manufacturer. I ing any implied warranties of merchantability ssume for it any liability connection with the s	or fitness for a particular RCVD.  ale of this part(s) and/or BY:		PAY TH AMOUN	



CASH \*

D

Phones: (800) 444-5247 (JAGS) (805) 594-1585

Fax: (805) 544-1664 E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net J S A

PO#

B.A.R. #AH 141586 EPA #CAL 000039637 E S T I M A T E Page

 Job Number
 000000

 2 002438

SA Code AY

GLD

8/11/2005

8:08:31

300.00

600.00

187.50

SHAVE FRAME FOR RADIATOR TO CLEAR. MODIFY SWAY BAR MOUNTS TO BOLT ON PROPERLY. BOLTED ON WILLWOOD CALLIPERS AND BRAKE

LINE AND FLEX LINES.

MIGUEL ACEVES DEFAULT 2005/06/15 4.00 75.00 N
BOLT ON IRS. BOLT ON RADIOUS ARMS AND SHOCKS. PREP STEERING
RACK AND PAINT. HOOP UP BRAKE LINES AND PARKING BRAKE CABLE.
SANDBLAST AND PAINT RADIATOR BRACKETS.

SH

0

MIGUEL ACEVES DEFAULT 2005/06/16 3.00 75.00 N 225.00 INSTALL REAR SWAY BAR. PUT WHEELS ON AND FILL DIFF WITH OIL.

MIGUEL ACEVES DEFAULT 2005/07/21 8.00 75.00 N
SET UP REACTION PLATE. DISASSEMBLE FRONT SUSPENSION. WIRED
UP ELECTRIC COOLING FAN. BOLT ON NEW REAR BRAKE PADS. HOOKED
UP COOLANT HOSES ON FIREWALL.

MIGUEL ACEVES DEFAULT 2005/07/22 2.50 75.00 N HOOKED UP DRIVE SHAFT WITH NEW SPACER. PUT ON NEW REAR COILS TO LOWER CAR.

Part Number	<u>Description</u> <u>Ret</u>	Qty	Each	Core Tax	
17 1217	DUNLOP WHEEL EA	4	718.7700	Y	2875.08
17 1205-4	SWAY BAR KIT	1	632.4500	Y	632.45
17 6004	POLY BUSH SET	1	163.4900	Y	163.49
GZ GT2-2097	GAZ SHOCK, FRNT	2	112.4900	Y	224.98
JA CAC9937*	LOWER BALLJOINT	2	21.3000	Y	42.60
GZ GP4-2099	GAZ SHOCK, REAR	4	156.7600	Y	627.04
17 1524	TORSION PLATE	1	249.9500	Y	249.95
17 1208	ALLOY RACK MT	1	299.9500	Y	299.95
JA MHC3160AA*	RADIUS BUSH	2	5.1400	Y	10.28
CO 17198	IRS MOUNT, OE	1	46.3700	Y	46.37
JA 3840	PINION SEAL	1	10.3700	Y	10.37
JA 8436	EARLY SIDE SEAL	2	14.4400	Y	28.88
JA 8950	O-RING	2	1.2700	Y	2.54
JA MHC3170AA*	RADIUS BUSH	. 2	_14.9900	Y	29.98
JA 3931	GASKET DEF.S	SH	(□) 3 ,□ 500	Y	3.35
JA 8436/N	DIFF SIDE SEAL	2	15.9000	Y	31.80
17 6004	POLY BUSH SET	1	163.4900	Y	163.49
06 7001	CLUTCH HOSE	1	9.1700	Y	9.17

471						
TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HANDLING	MISCELLANEOUS	LABOR	TAX

IMPORTANT: The only warranties applying to this part[s] are those that may be offered by the manufacturer. The soling dealer hereby expressly disclaims all warranties, either expresse or implied, including any implied warranties of merchantability or fitness for a particula purpose, and neither assumes nor authorizes any other person to assume for it any fability connection the sale of this part[s] and/of-service. Buyer shall not be entitled to recover from the selling dealer any consequential durages, damages to property, damages for fose control and the sale of this part of the service. Buyer shall not be entitled to recover from the selling dealer any consequential durages, damages to property, damages for fose control and the selling th

CVD. Y: \_\_\_\_\_ PAY THIS AMOUNT



\* CASH \*

Operation

0

Phones: (800) 444-5247 (JAGS)

(805) 594-1585 Fax: (805) 544-1664

E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

S

P

J S A

B.A.R. #AH 141586 EPA #CAL 000039637 E S T I M A T E Page

Job Number 2 002438 PO#

> SA Code AY Y

> > GLD

8/11/2005

8:08:31

Price

Seq Tax

4 N

Part Number	Description Ret	Qty	Each	Core Tax	Total
CO 15350	FRONT HUB SEAL	2	7.3700	Y	14.74
CO 15351	WHEEL BEARING	2	18.6000	Y	37.20
CO 15352	BEARING, HUB	2	14.7100	Y	29.42
CO 10940	LINK BUSHING	4	1.9300	Y	7.72
CO 17198	IRS MOUNT, OE N	1-	46.3700	Y	46.37-
SH GEAROIL	90W GEAROIL	3	4.9500	Y	14.85
JA 8436/N	DIFF SIDE SEAL N	2 -	15.9000	Y	31.80-
17 1195	COIL SPRINGS	1	375.0000	Y	375.00
CO 18975	EXHAUST BRACKET	1	14.2000	Y	14.20
CO 19018	SAFETY BRACKET	1	10.6400	Y	10.64
LS SUBLETLBR	FRONT END ALIGN	1	192.0000	N	192.00
17 1208	ALLOY RACK MNT N	1-	299.9500	Y	299.95-

BRAKES BRAKE SYSTEM REPAIR / RESTORATION
wilwood conversion on front
Replace rear brake cylinders, rusted and not working

Description Tax Total Part Number Each Y BRAKE CONVERS. 1 545.6500 545.65 17 1210 Y BRAIDED LINES 1 119.9500 119.95 17 1215 \*\*\*\* Assembly contains the following parts: BRAKE HOSE, SS 1.00 CO 30753SS 1.00 JA CBC1394SS SS BRAKEHOSE 35.53 1 35.5300 JA CBC1394SS SS BRAKEHOSE 17 9753 SPORT ROTOR SET 1 228.0000 Y 228.00 JA CBC1394SS 36.1200 Y 36.12 SS BRAKEHOSE 1 BRAKE PADS 1 58.0700 Y 58.07 06 2052M Y 06 3030PR BLEED SCREW, 1 15.3400 15.34 BRIDGE PIPES 36,9700 Y 36.97 06 3003 H 34 3200 BRAKE RADS Y 06 2052M 34.32 WHEEL CYLINDER 4 229.9500 Y 919.80 GR 64932066SS Y 06 3090 CALIPER BOLT 16 1.9100 30.56 CO 724 WASHER, STAR .1600 Y 2.56 16

TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HANDLING MIS	SCELLANEOUS	LABOR	TAX
-------------	------------	------------	-------------------------	-------------	-------	-----

Description

**AMOUNT** 



Mechanics Name

STEVE PHILIP

SO

D

CASH \*

Phones: (800) 444-5247 (JAGS) E-mail: xksunltd@aol.com

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE

Page

000000

Job Number 2 002438 PO#

SA Code AY

GLD

8/11/2005

8:08:31

H P

(805) 594-1585 (805) 544-1664

Land Rover: www.xkslandrover.com

Shop Description

DEFAULT

Cobra: www.cobrasbyxks.com

Gauges: www.stewartwarner.net

Jaguar: www.xks.com

Operation Description PICK UP AND DELIVERY CHARGES PU/DELIVERY

Price

Total Rate Tax

Operation Description

<u>Seq Tax</u> Price

ENGINE BUILD ENGINE REBUILD JAG. Complete major engine overhaul with performance up grades Forged pistons, Carillo rods, performance cams, alloy flywhl Perf Damper, big valve conversion, weber 45DCOEs, headers, electronic dist.

Date

2005/03/31

Hours

5.00

32.50

Break in instructions: Do not exceed 4500 rpm for 1500 miles Re-torque head at 1000 miles change oil and filter at 1000 miles Use Castrol 20-50 GTX

Mechanics Name Shop Description Date Hours Rate Tax Total MIGUEL ACEVES DEFAULT 2005/04/15 4.00 65.00 260.00 REMOVED ENGINE AND TRANSMISSION. REMOVE INTERIOR PIECES AND SEATS. MIGUEL ACEVES DEFAULT 2005/04/18 6.00 65.00 390.00 TEAR DOWN ENGINE AND REMOVE CYLINDER HEAD. DISASSEMBLE HEAD TO GO TO MACHINE SHOP AND ALSO ENGINE BLOCK. GENERAL HELPERS DEFAULT 2005/04/27 2.00 90.00 45.00 SAND BLASTED CYLINDER HEAD 2005/06/08 GENERAL HELPERS DEFAULT 22.50 .50 45.00 PRESSURE WASH ENGINE COMPARTMENT 2005/06/29 ERIC MESMER DEFAULT .25 67.50 N 16.88 ASSIST WITH CYLINDER HEAD DEFAULT 2005/06/29 3.00 MIGUEL ACEVES 67.50 202.50 DRILL AND TAP HOLES FOR CAM SHAFT RETAINERS ON CYLINDER HEAD 2005/06/30 2.50 45.00 GENERAL HELPERS DEFAULT N 112.50 2005/06/30 MIGUEL ACEVES DEFAULT 1.00 67.50 67.50 CLEAN CYLINDER HEAD. GATHER UP PARTS TO ASSEMBLE.

TOTAL UNITS	PART TOTAL	CORETOTAL	SHIPPING & HANDLING	MISCELLANEOUS	LABOR	TAX
-------------	------------	-----------	---------------------	---------------	-------	-----



CASH \*

Phones: (800) 444-5247 (JAGS)

(805) 594-1585 (805) 544-1664

E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE

000000 Job Number 2 002438 PO#

SA Code AY

GLD 8/11/2005 8:08:31

SHIP T

McGuellanic   Same	Mecha	nics Name Shop Description Date Hours Rate	<u>Tax</u>	Total
WORK ON CYLINDER HEAD. PUT ON STUDS FOR CAM CAPS AND SET UP SHIMS ON EXHAUST CAM.  GENERAL HELPERS DEFAULT 2005/07/05 1.50 45.00 N 67.50 PRESSURE WASH ENGINE. MASK OFF - PREP FOR PAINT.  ERIC MESMER DEFAULT 2005/07/05 3.50 67.50 N 236.25 ORDER ALL BOTTOM PARTS AND CYLINDER HEAD PARTS. ASSIST WITH BUILDING. FIND OVERSIZE TAPPET.  MIGUEL ACEVES DEFAULT 2005/07/06 .50 67.50 N 33.75 WORK ON CYLINDER HEAD  GENERAL HELPERS DEFAULT 2005/07/06 1.00 45.00 N 45.00 PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00 FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00 INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. INSTALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 540.00 FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD. STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD. SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.	MIGUE	L ACEVES DEFAULT 2005/07/05 7.00 67.50	N	472.50
SHIMS ON EXHAUST CAM.  GENERAL HELPERS DEFAULT 2005/07/05 1.50 45.00 N 67.50 PRESSURE WASH ENGINE. MASK OFF - PREP FOR PAINT.  ERIC MESMER DEFAULT 2005/07/05 3.50 67.50 N 236.25 ORDER ALL BOTTOM PARTS AND CYLINDER HEAD PARTS. ASSIST WITH BUILDING. FIND OVERSIZE TAPPET.  MIGUEL ACEVES DEFAULT 2005/07/06 .50 67.50 N 33.75 WORK ON CYLINDER HEAD DEPAULT 2005/07/06 1.00 45.00 N 45.00 PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00 PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00 FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00 INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. INSTALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63 ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00 FINISH BOTTOM OF ENGINE. REBULD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL CYLINDER HEAD. STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD. SOLVENTED PARTS. DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.		WORK ON CYLINDER HEAD. PUT ON STUDS FOR CAM CAPS AND SET U	ΙP	
GENERAL HELPERS DEFAULT 2005/07/05 1.50 45.00 N 67.50 PRESSURE WASH ENGINE. MASK OFF - PREP FOR PAINT.  ERIC MESMER DEFAULT 2005/07/05 3.50 67.50 N 236.25 ORDER ALL BOTTOM PARTS AND CYLINDER HEAD PARTS. ASSIST WITH BUILDING. FIND OVERSIZE TAPPET.  MIGUEL ACEVES DEFAULT 2005/07/06 .50 67.50 N 33.75 WORK ON CYLINDER HEAD  GENERAL HELPERS DEFAULT 2005/07/06 1.00 45.00 N 45.00 PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00 FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00 INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. INSTALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/18 8.00 67.50 N 455.63 ERIC MESMER DEFAULT 2005/07/18 8.00 67.50 N 540.00 FINISHAL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD. SUD5/07/12 4.00 45.00 N 180.00 SULVENTED PARTS. PAINTED BREAKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BREAKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.		SHIMS ON EXHAUST CAM.		
PRESSURE WASH ENGINE. MASK OFF - PREP FOR PAINT.  ERIC MESMER DEFAULT 2005/07/05 3.50 67.50 N 236.25  ORDER ALL BOTTOM PARTS AND CYLINDER HEAD PARTS. ASSIST WITH BUILDING. FIND OVERSIZE TAPPET.  MIGUEL ACEVES DEFAULT 2005/07/06 .50 67.50 N 33.75  WORK ON CYLINDER HEAD  GENERAL HELPERS DEFAULT 2005/07/06 1.00 45.00 N 45.00  PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE FOMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	GENER	AL HELPERS DEFAULT 2005/07/05 1.50 45.00	N	67.50
ERIC MESMER DEFAULT 2005/07/05 3.50 67.50 N 236.25  ORDER ALL BOTTOM PARTS AND CYLINDER HEAD PARTS. ASSIST WITH  BUILDING. FIND OVERSIZE TAPPET.  MIGUEL ACEVES DEFAULT 2005/07/06 .50 67.50 N 33.75  WORK ON CYLINDER HEAD  GENERAL HELPERS DEFAULT 2005/07/06 1.00 45.00 N 45.00  PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE  ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS,  CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN-  STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER  HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY.  INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR  THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL  TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND  MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND  RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	011,111	PRESSURE WASH ENGINE. MASK OFF - PREP FOR PAINT.		
ORDER ALL BOTTOM PARTS AND CYLINDER HEAD PARTS. ASSIST WITH BUILDING. FIND OVERSIZE TAPPET.  MIGUEL ACEVES DEFAULT 2005/07/06 .50 67.50 N 33.75  WORK ON CYLINDER HEAD  GENERAL HELPERS DEFAULT 2005/07/06 1.00 45.00 N 45.00  PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRASETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS. ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	ERIC	MESMER DEFAULT 2005/07/05 3.50 67.50	N	236.25
BUILDING. FIND OVERSIZE TAPPET.  MIGUEL ACEVES DEFAULT 2005/07/06 .50 67.50 N 33.75  WORK ON CYLINDER HEAD  GENERAL HELPERS DEFAULT 2005/07/06 1.00 45.00 N 45.00  PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED RAASETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	LICEC	OPDER ALL BOTTOM PARTS AND CYLINDER HEAD PARTS ASSIST WIT		230,23
MIGUEL ACEVES DEFAULT 2005/07/06 .50 67.50 N 33.75  WORK ON CYLINDER HEAD  GENERAL HELPERS DEFAULT 2005/07/06 1.00 45.00 N 45.00  PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. INSTALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED FRANCETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00				
GENERAL HELPERS DEFAULT 2005/07/06 1.00 45.00 N 45.00  PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRAKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	MICIT	T ACEVIEC DEFAILT 2005/07/06 50 67 50	NT	33 75
PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT. 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRASKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	MIGUE	LIODE ON CALINDED HEAD	14	33.73
PREP ENGINE FOR PAINT. PAINT BLOCK.  MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT. 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRASKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	CENTED	WORK ON CILINDER READ	NT	45 00
MIGUEL ACEVES DEFAULT 2005/07/07 4.00 67.50 N 270.00  FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRASKETS FOR ENGUNE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	GENER			
FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.  ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00  INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRASETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	NETCITE		NT	270 00
ERIC MESMER DEFAULT 2005/07/07 8.00 67.50 N 540.00 INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63 ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00 FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	MIGUE		IN	270.00
INSTALL CRANKSHAFT PLUGS, CLEAN AND PAINT BLOCK, INSIDE ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		FINISH SETTING UP VALVE SHIMS ON CYLINDER HEAD.		F40.00
ISOLATOR, DISTRIBUTOR BUSHING, STAND RODS. ORDER PARTS, CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	ERIC	MESMER DEFAULT 2005/07/07 8.00 67.50	N	540.00
CLEAN AND BEADBLAST PARTS. PUT TOGETHER REAR MAINSEAL. IN- STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00 FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRASETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00				
STALL CRANKSHAFT WITH NEW MAIN STUDS. ASSIST ON CYLINDER HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00				
HEAD. FIND OVERSIZED TAPPETS.  ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY.  INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR  THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL  TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND  MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND  RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS.  CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRASKETS FOR ENGINE COMPARTMENT.  SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00				
ERIC MESMER DEFAULT 2005/07/08 6.75 67.50 N 455.63  ERIC MESMER DEFAULT 2005/07/11 8.00 67.50 N 540.00  FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY.  INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL  TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS.  CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRACKETS FOR ENCINE COMPARTMENT.  SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00				
FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		HEAD. FIND OVERSIZED TAPPETS.		
FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY. INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	ERIC	MESMER DEFAULT 2005/07/08 6.75 67.50	N	455.63
INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FOR THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	ERIC	MESMER DEFAULT 2005/07/11 8.00 67.50	N	540.00
THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTALL TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		FINISH BOTTOM OF ENGINE. REBUILD COMPLETE TIMING ASSEMBLY.		
TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	0.00	INSTALL ALL GUIDES (MACHINED TOP ONE). SET UP EVERTHING FO	R	
MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AND RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		THE DISTRIBUTOR SHAFT WITH TDC PISTON #6. FIND TDC, INSTAL	L	
RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		TIMING COVER DAMPER. PAINTED IGNITION AND CHECK TDC AND		
RODS, INSTALL CYLINDER HEAD STUDS AND WATER CORE PLUGS. CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00 SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT. SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		MARKED. INSTALL OIL PUMP AND FIDING PIPES. TORQUE MAINS AN	D	
CLEAN AND PAINT CYLINDER HEAD.  GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT.  SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00				
GENERAL HELPERS DEFAULT 2005/07/12 4.00 45.00 N 180.00  SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE COMPARTMENT.  SAND BLASTED OIL PAN AND OTHER PARTS.  ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		CI TAN AND DATME OUT THOUD HEAD		
ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00	GENER	AL HELPERS DEFAULT 2005/07/12 4.00 45.00	N	180.00
ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		SOLVENTED PARTS. PAINTED BRACKETS FOR ENGINE POMPARTMENT.		
ERIC MESMER DEFAULT 2005/07/12 8.00 67.50 N 540.00		SAND BLASTED OIL PAN AND OTHER PARTS.		
REFIT CYLINDER HEAD WITH CLAY. INSTALL CAMS. SETUP TIMING.	ERIC	MESMER DEFAULT 2005/07/12 8.00 67.50	N	540.00
		REFIT CYLINDER HEAD WITH CLAY. INSTALL CAMS. SETUP TIMING.		

TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HAT	ANDLING	MISCELLANEOUS	LABOR	TAX
TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HAI	ANDLING	MISCELLANEOUS	LABOR	TAX



\* CASH \*

SO LD Phones: (800) 444-5247 (JAGS) (805) 594-1585

(805) 544-1664 Fax: E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net



B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page

000000 Job Number 2 002438 PO#

SA Code AY

GLD 8/11/2005

8:08:31

540.00

438.75

540.00

50.63

P 0

TDC, PULL CYLINDER HEAD. ORDER PARTS. PUT CYLINDER HEAD BACK WITH NEW S3 HEAD GASKET. TORQUE 58FP. SECURE CRANKSHAFTS. CLEAN, PAINT AND INSTALL SIX BOLTS ON OIL GALLERY AND FIVE ON TOP BLOCK WATER JACKET. NYLOCK AND COPPER WASHERS ON FRONT CYLINDER HEAD STUDS. FIND WASHER AND INSTALL BLOCK PLATE.INSTALL ALL MANIFOLD STUDS. START DISTRIBUTOR. PULL DRIVE DOG IN FRONT OF OLD DISTRIBUTOR. FIND AND CLEAN ALL PARTS NEEDED TO FINISH ENGINE.

2005/07/13 8.00 67.50 MESMER DEFAULT ERIC CLEAN, BEADBLAST AND MACHINED NYLON WASHERS. PUT TOGETHER OIL FILTER ASSEMBLY. MACHINED FRONT DAMPER TO ALIGN PULLY. CUT TENSIONER PULLEY. BEADBLAST AND PAINT ALL PULLEYS AND WATER PUMP. REBUILD WATER PUMP AND INSTALL EVERYTHING. DRILL AND INSTALL DISTRIBUTOR DRIVE DOG, COIL BALASTER, PAINT BRACKET. START SPARK PLUG WIRES.

2005/07/14 6.50 67.50 N ERIC MESMER DEFAULT PRESSURISE ENGINE WITH OIL. INSTALL OIL SUMP. CHANGE RELIEF VALVE. INSTALL HOSE. NEW SEAL ON OIL SUMP FINDING HOSE. PULL ENGINE FROM STAND. INSTALL ALLOY FLYWHEEL DISC AND PRESSURE PLATE. FIND AND DISASSEMBLE OLD THROW BEARING FORK. GRIND BELL HOUSING. INSTALL FORK. FINISH SPARK PLUG WIRES.

2005/07/15 DEFAULT 8.00 ERIC MESMER FINISH ENGINE ASSEMBLY. INSTALL MANIFOLD AND CARBS, WEBERS ETC. PULL ENGINE FROM TESTING STAND AND INSTALL ENGINE TO BE TESTED. CONNECT EVERYTHING FOR 5 SPEED KIT. START ENGINE AND CHECK EVERYTHING.

2005/07/15 67.50 DEFAULT 1.00 67.50 GENERAL HELPERS ASSITED IN PLACING MOTOR ON ENGINE STAND FOR TESTING.

2005/07/19 67.50 N DEFAULT .75 ERIC MESMER INSTALL NEW STARTER AND START ENGINE. LET RUN FOR 15 MINUETS ADD SCREW MISSING ON CARB THROTTLE.

2005/07/20 3.75 168.75 DEFAULT 45.00 GENERAL HELPERS ASSISTED WITH INSTALLATION OF MOTOR. BOLCED DRIVE LINE.

2005/07/20 8.00 540.00 DEFAULT ERIC MESMER PULL ALL PARTS FROM ENGINE TO FIT CAR. DRAIN WATER, TAKE ENGINE OFF STAND. INSTALL PLATE BETWEEN BLOCK AND TRANNY AND

TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING	& HANDLING	MISCELLANEOUS	LABOR	T/	ιχ.
spressly disclaims all warra- umose, and neither assume	nties, either express or implied, includes nor authorizes any other person to a	e that may be offered by the manufacturer. I ing any implied warranties of merchantability ssume for it any liability connection with the any consequential damages, damages to prop	or litness for a particular sale of this part(s) and/or	RCVD. BY:	3		THIS	\$



\* CASH \*

0

D

Phones: (800) 444-5247 (JAGS)

(805) 594-1585 (805) 544-1664 Fax:

E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net



B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page

> 000000 2 002438

Job Number PO#

SA Code AY

GLD 8/11/2005

8:08:31

472.50

320.63

540.00

S Н P

TWO TRIANGLE BRACKETS, SLAVE CYLINDER, HOSE BRACKET. FIT

MOTOR AND TRANNY IN CAR. BOLT FRONT MOUNTS, ALTERNATOR BELT, OIL FILTER ASSEMBLY. CHANGE POSITION OF STARTER CABLE. 2005/07/22 7.00 ERIC MESMER DEFAULT 67.50 MACHINED DRIVE SHAFT SPACER. MACHINED GAS THROTTLE ASSEMBLY.

MACHINED INTAKE MANIFOLD TO CLEAR STUDS. REASSEMBLED INTAKE MANIFOLD. INSTALLED THROTTLE LINKAGE.

2005/07/22 .50 33.75 67.50 N DEFAULT MIGUEL ACEVES FINISH MAKING UP FUEL LINE. CHANGED FUEL FILTER.

2005/07/25 DEFAULT 4.75 67.50 ERIC MESMER INSTALL DISTRIBUTOR DRIVE DOG AND PUT TOGETHER WITH SPARK PLUG WIRES. DRILL SIDE OF TRANY COVER TO WIRE REVERSE SWITCH PUT TOGETHER COIL AND BALASTER. WIRE EVERYTHING. FINISH

THROTTLE ADJUSTMENT. START EXHAUST HEADER.

2005/07/26 8.00 DEFAULT 67.50 ERIC MESMER BUILT AND FIT DOWN PIPE HEADER. WELD. FIT HEADER WITH TORSION BAR. INSTALL AND FIT ALL AIR FILTER ASSEMBLY. BLEED BRAKES. INSTALL DOWN PIPES WITH NEW CLAMPS. ADD WATER AND ANTIFREEZE. PUT TOGETHER TWO LEVEL SPRING BOLTS HOLDING BONNET. START ENGINE. START TO TUNE TIMING AND CARBS.

DELIVER CAR TO ALIGNMENT SHOP.

ERIC MESMER DEFAULT 2005/07/27 5.50 67.50 371.25 320.63

4.75 2005/07/28 67.50 MESMER DEFAULT ERIC TEST DRIVE CAR. PROBLEM WITH BRAKE REBUILD COMPLETE SYSTEM. REINSTALL ALL MUD SHIELDS, BATTERY BRACKETS ETC. FIX OIL

LEAK ON SPIN ON FILTER. CHECK PLUGS AND TAKE CAR FOR TEST

DRIVE.

DEFAULT 2005/07/29 8.00 67.50 MESMER ERIC RETORQUE CYLINDER HEAD. RESET ALL CARBS, PROBLEM PUMPING GAS CLEAR SEAT-NEEDLE. RESET LEVEL. ADD RETURN SPRING. FIX CLUTCH, HYDRAULIC LEAK. TEST DRIVE CAR. PROBLEM WITH BRAKES.

CHANGE ALL WHEELS AND CYLINDERS AND BLEED SYSTEM.

₽ .50 DEFAULT 2005/08(0)3 67.50 N 33.75 ERIC MESMER TAILT ALL EXHAUST SYSTEM DROP DOWN CENTRAL MUFFLER CHECK FOR

LEAK.

2005/08/05 ERIC MESMER DEFAULT 67.50

SHIPPING & HANDLING MISCELLANEOUS RCVD



\* CASH \*

Phones: (800) 444-5247 (JAGS)

(805) 594-1585

(805) 544-1664 E-mail: xksunltd@aol.com

Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page

000000

Job Number 2 002438 PO#

SA Code AY

GLD

8/11/2005

8:08:31

Part Number	Description Ret	Qty	Each	Core Tax	Total
17 9976.040	VENOLIA PISTONS	1	832.8300	Y	832.83
17 8522	CRANK DAMPER	1	481.4700	Y	481.47
17 8521	CARRILLO RODS	1	2195.0000	Y	2195.00
CO 23761	CRANK PLUG	6	3.4100	Y	20.46
17 1580	HOLD DOWN SET	1	49.9500	Y	49.95
01 3235	VALVE SEAT	6	14.8000	Y	88.80
01 3050	INTAKE VALVE	6	7.0600	Y	42.36
01 3020	EXHAUST VALVE	6	7.6300	Y	45.78
JA EBC1782	VALVEGUIDE CLIP	12	2.8300	Y	33.96
01 3060	VALVE GUIDE	6	7.5900	Y	45.54
01 3080	VALVE GUIDE	6	7.5800/	X	45.48
20 1666	CRANKSHAFT, R/B	1	1014.5100	550.00 Y	1564.51
17 1502/4	ALLOY FLYWHEEL	1	395.9500	Y	395.95
17 1511	CARBURETOR SET	1	2150.0000	X	2150.00
01 3235	VALVE SEAT	6	14.8700	Y	89.22
01 3240	VALVE SEAT	6	9.6100	Y	57.66
17 3505	HI-FLOW OILPUMP	1	339.9500	Y	339.95
17 3556	SCRAPER PLATE	. 1	177.2300	Y	177.23
CO 4855	FLYWHEEL BOLT	9	6.6800	. Y	60.12
SH MACH CYLINDER HEA	ADMACH CYL HEAD	1	1239.4700	Y	1239.47
VALVE JOB					
INSTALL VALVE	GUIDES				
INSTALL VALVE	SEATS				
PREP HEAD					
CYL HEAD SURFA					
SURFACE E&U S	IDE				
INSTALL SPARK	PLUG COILS				
REMOVE SEATS					
VALVE SEATS/H					
CO 27480	VALVE COLLAR	12	13,9500	Y	167.40
JA EBC2997	VALVE KEEPER S	74	○ 4 €200	Y	110.88
17 1589-6	SPRING SET	1	139.3900	Y	139.39
CO 44010	CAM FOLLOWER	12	10.9500	Y	131.40
01 1060	CAM BEARING SET	1	75.1000	Y	75.10

OTAL UNITS PART TOTAL	CORE TOTAL	SHIPPING & HANDLING	MISCELLANEOUS	LABOR	TAX
CTANT: The only warranties applying to this part(s) are the sly disclaims all warranties, either express or implied, inclu- se, and neither assumes nor authorizes any other person to D. Euver shall not be entitled to recover from the selling deal	ding any implied warranties of merchantability o assume for it any liability connection with the sa	or fitness for a particular RCVD.  ale of this part(s) and/or BY:		PAY THIS	



\* CASH \*

SOLD

Phones: (800) 444-5247 (JAGS) (805) 594-1585 (805) 544-1664

E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net



B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page 11

> 000000 2 002438

SA Code AY

		Y
S		GLD
l P		8/11/2005
T		8:08:31

Job Number

PO#

Part Number	Description Ret	Qty	Each	Core Tax	Total
JA EBC3531	VALVE STEM SEAL	6	.7300	Y	4.38
17 1588	HI-PERF CAMS	1	749.9500	Y	749.95
LS SUBLETLBR	MACHINE ENGINE	1		N	3120.00
	. Rebore Block. Hor				A The same was
	ve sleeves. Align,				
	s. Balace Engine A	ssembly	. Magna Flux	Block.	
Pin cracks in					
17 3582	LIGHTER TAPPET	12	14.9500	Y	179.40
CO 27481	SPRING SEAT	12	8.3500	Y	100.20
CO 11761	EXHAUST STUD	34	1.6900	Y	57.46
CO 317	1" PLUG	2	1.1100	Y	2.22
CO 6727-2	HEAD STUD	6	2.3200	Y	13.92
CO 2189	V/C STUD	4	.9800	Y	3.92
01 1030.010	MAIN BEARINGS	1	102.6000	Y	102.60
01 1011.010	ROD BEARING SET	1	47.0800	Y	47.08
01 1040PR	THRUST WASHERS	1	6.8100	Y	6.81
CO 21171	TAB WASHER	12	2.5200	Y	30.24
CO 23761	CRANK PLUG	6	3.4100	Y	20.46
CO 4810	LOCK PLATE	1	12.3600	Y	12.36
CO 23158	LOCK TAB	1	7.0800	Y	7.08
CO 2296-3	1/2" WASHER	1	2.1900	Y	2.19
CO 2296-2	OIL WASHER	1	2.1700	Y	2.17
CO 16862-2	7/8" PLUG	1	.8600	Y	.86
CO 16862-8	1 5/8" PLUG	6	1.6300	Y	9.78
JA FW105-E	COPPER WASHER	6	1.9300	Y	11.58
CO 2296-4	3/8" WASHER	5	.7100	Y	3.55
CO 4146	BANJO WASHER	6	.7800	Y	4.68
JA EAC3629	CHAIN TENSIONER	1	14.1000	Y	14.10
CO 13457	FILTER GAUZE	1	5.2000	Y	5.20
CO 2255	TIMING CHAIN	1,1	14.8800	Y	14.88
CO 20397	LOCK TAB	SH	O 2 3700	Y	2.87
CO 21815	CHAIN GUIDE	1	9.0000	Y	9.00
CO 21831	LOCK PLATE	2	7.2300	Y	14.46
CO 13617	CHAIN GUIDE	1	5.9400	Y	5.94

TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HANDLING	MISCELLANEOUS	LABOR	TAX
-------------	------------	------------	---------------------	---------------	-------	-----



CASH \*

SOLD

Phones: (800) 444-5247 (JAGS)

(805) 594-1585

(805) 544-1664 E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net



B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE

Page 12

000000 2 002438

Job Number

SA Code AY

dauges. www.stewa	i twatioi iiot	Y
	S	GLD
	l P	8/11/2005
	T O	8:08:31

PO#

Part Number		<u>Description</u> R	<u>et</u>	Qty	<u>Each</u>	Core		Total	
CO 13616		CHAIN GUIDE		1	8.9500		Y	8.95	
CO 22952		LOCK TAB		1	4.3700		Y	4.37	
17 3505		HI-FLOW OILPUMP		1	339.9500		Y	339.95	
JA FW106-E		COPPER WASHER		1	2.3800		Y	2.38	
17 3503		BOLT KIT, MAINS		1	169.2200		Y	169.22	
	Assembly	contains the fo		na p					
	14.00	17 1685		J 1	ENGINE STUD				
	14.00	17 1687			ENGINE WASHE	R			
	14.00	17 1689			ENGINE NUT				
CO 2152	11.00	DRIVE GEAR		1	108.0800		Y	108.08	
CO 2151		LOCK TAB		1	5.6000		Y	5.60	
CO 2256		TIMING CHAIN		1	16.9300		Y	16.93	
CO 13660		DISTANCE PIECE		1	15.0300		Y	15.03	
CO 13457		FILTER GAUZE		1	5.2000		Y	5.20	
01 1050PR		THRUST WASHERS		1	11.6900		Y	11.69	
JA EAC8101		O-RING		1	3.0800		Y	3.08	
CO 40147		SEAL TRACK		1	25.6400		Y	25.64	
CO 2318	* 1	EXHAUST GASKET		2	3.8700		Y	7.74	
01 MS120		INTAKE GASKET		1	4.4600		Y	4.46	
CO 8615PR		TIMING GASKETS		1	1.1400		Y	1.14	
CO 2303		PUMP GASKET		1	1.8000		Y	1.80	
01 JM447		GASKET, CAM		1	5.9800		Y	5.98	
01 JM448		GASKET, CAM		1	5.9400		Y	5.94	
CO ·33281		THERMOSTAT GASK		1	5.0100		Y	5.01	
CO 2227		BREATHER GASKET		2	1.1000		Y	2.20	
CO 29369		IGN. POINTER		1	7.4300		Y	7.43	
17 9994		HEAD GASKET 4.2		1			Y	250.00	
17 9994		HEAD GASKET 4.2		1-			Y	279.72-	
		CARBURETOR SET		1-			Y	2150.00-	
17 1511			IV	1	65.2700		Y	65.27	
17 29216		IGNITION COIL	0		05.2700		Y	24.78	
17 1540		BALLAST RESIST	S		24 \ 800 260.3000		Y	260.30	
17 1510-4		FUEL RAIL		1			Y	67.58	
01 BJ020		4.2 HEAD GASKET		1	67.5800		Y		
16 5501		NUT/WASHER KIT		1	115.8700		Y	115.87	

TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HANDL	ING MISCELLANEOUS	LABOR	TAX
-------------	------------	------------	------------------	-------------------	-------	-----



\* CASH \*

0010

Phones: (800) 444-5247 (JAGS)

(805) 594-1585 (805) 544-1664

Fax: E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

PO#

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE

000000 Job Number 2 002438

SA Code AY

		S H I P T O			8,	GLD /11/2005 8:08:31
<u>Part Number</u>	Description	<u>Ret</u>	Oty	Each	Core Tax	<u>Total</u>
17 8524	WIRE HOLDER		1	78.2600	Y	78.26
CO 2385	"D" WASHER		12	2.9500	Y	35.40

T /	0321	WITCH HOLDER			,0.2000	_	70.20
CO	2385	"D" WASHER		12	2.9500	Y	35.40
CO	10301/C	HEAD WASHER		2	2.9000	Y	5.80
CO	5846	BANJO BOLT		2	7.5500	Y	15.10
CO	18733	BELT TENSIONER		1	164.4100	Y	164.41
CO	18447	SPRING		1	46.7800	Y	46.78
17	1510 4.2	WEBER MANIFOLD N		1 -	995.0000	Y	995.00-
17	1530-2	DISTRIBUTOR		1	525.0000	Y	525.00
17	1530-2	DISTRIBUTOR D		1-	525.0000	Y	525.00-
17	1530-3	DISTRIBUTOR		1	449.9500	Y	449.95
17	2003	FILTER KIT		1	99.9500	Y	99.95
	PK5500	WATER PUMP KIT		1	49.9100	Y	49.91
17	1510-2	WEBER CARB.		3	845.5800	Y	2536.74
CO	15949	OIL BYPASS HOSE		1	2.7000	Y	2.70
09	BS/25	HOSE CLAMP		2	2.5200	Y	5.04
	2714	VALVE & SPRING		1	35.8300	Y	35.83
SH	GAS	GAS		5	2.8900	Y	14.45
	44010	CAM FOLLOWER N		12-	10.9500	Y	131.40-
	3582	LIGHTER TAPPET N		12-	14.9500	Y	179.40-
	3505	HI-FLOW OILPUMPN		1-	339.9500	Y	339.95-
	1521-1	AIR FILTER SET		1	219.3700	Y	219.37
CO	18545	LINKAGE BRACKET		1	29.3400	Y	29.34
	18548	THROTLE BRACKET		1	12.9900	Y	12.99
CO	30342	COUPLER ASSY		1	22.8600	Y	22.86
CO	14366SS	THROTTLE SPRING		2	5.5300	Y	11.06
CO	5178	SPRING ANCHOR		1	10.0600	Y	10.06
CO	5120	RETURN SPRING		1	11.4800	Y	11.48
	27327	CLEVIS PIN		1	21.4000	Y	21.40
	1530-3	DISTRIBUTOR D		1-	449.9500	Y	449.95-
	1530-2	DISTRIBUTOR		1	528.5400	Y	528.54
	AUC1924	CLAMP X S	S	2	$\bigcirc$ 32 $\bigcirc$ 200	Y	65.44
	AUC1236	FLEX SHAFT	9	1	16.5900	Y	16.59
	13681-1	FUEL FILTER		1	10.2000	Y	10.20
	2517	FUEL PRES GUAGE		1	36.7400	Y	36.74

			-				
TOTAL UNITS	PART TOTAL	CORE TOTAL S	HIPPING & HANDL	ING MISCELLA	NEOUS LABOR		TAX
rpcee, and neither assumes rvice. Buyer shall not be ent	nor authorizes any other person to	ose that may be offered by the manufacturer. The selling dealeding any implied warranties of merchantability or fitness for a passume for it any liability connection with the sale of this part[e er any consequential damages, damages to proporty, damages for the sale of the part of the sale of	and/or RV			PAY THIS AMOUNT	\$



San Luis Obispo, CA 9340 \* CASH \* Phones: (800) 444-5247 (JAGS) (805) 594-1585 Fax: (805) 544-1664

Fax: (805) 544-1664 E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net S A S

B.A.R. #AH 141586 EPA #CAL 000039637 E S T I M A T E Page 14

Job Number 2 002438 PO#

> SA Code AY Y

> > GLD 8/11/2005

> > > 8:08:31

H I P		
T O		

	Part Number	Description Ret	Qty	Each	Core Tax	Total
	17 1521	AIR FILTER SET N	1-	131.4000	Y	131.40-
	LS SUBLETLBR	CHROME PLATE	1	467.8100	N	467.81
	CHROME PLATE 1	SET OF JAGUAR HEAD	ERS AND	2 HEADER F	PIPES.	
	BD 19736	STEPPED BOLT	2	9.9200	Y	19.84
	17 1521-1	AIR FILTER SET			Y	219.37
	CO 15474	60# OIL SENDER			Y	69.95
	SH USED-PARTS	SHOP USD PTS	1	100.0000	Y	100.00
		valve cover, old un	nit had s	small crack	that was	
	leaking oil					
	SH 57351633	RUSTOLEUM SPRAY	1	5.0900	Y	5.09
	SH GAS	GAS .	19	2.9000	Y	55.10
	17 3556	SCRAPER PLATE N	1-		Y	177.23-
	CO 4794HD	H/D MOUNT PAIR	2	149.9500	Y	299.90
_	eration Descriptio				Seq Tax	Price
S	STORATION MISC. REST				7	
	Replace windsh					
	Install air ho					
	Replace steeri					
	Install automa Install batter					
	Install batter	y switch				
	Mechanics Name	Chan Daggrintion	Date	Houra	Rate Tax	Total
	ERIC MESMER	RESTORATION	2005/08		67.50 N	438.75
		hange ignition ther				430.73
		e valve leaking cov				
		ing wheel, reseal v			_	
	ERIC MESMER		2005/08/		67.50	
	ERIC MEDMER	RESTORATION	2005/00/	02	07.50	
	Part Number	Description Ret	_ Qty	Each	Core Tax	Total
		DEVES RING SES	SHI	①13 P000	Y	113.10
	14 2010	UPPER BALLJOINT	S (1)	31.7500	Ÿ	63.50
	LS SUBLETLBR	PLATING PARTS	1	345.5000	N	345.50
	PLATING SUSPEN		- T			

2.0								
TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING	& HANDLING	MISCELLANEOUS	LABOR		TAX
xpressly disclaims all warran urpose, and neither assumes ervice. Buyer shall not be en	nties, either express or implied, includi s nor authorizes any other person to a	e that may be offered by the manufacturer. The ng any implied warranties of merchantability of ssume for it any liability connection with the sa any consequential damages, damages to prope	r fitness for a particular de of this part(s) and/or	RCVD. BY:			PAY THIS AMOUNT	\$



Phones: (800) 444-5247 (JAGS)

(805) 594-1585 (805) 544-1664 Fax:

E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page 15

Job Number

PO#

000000

2 002438

SA Code AY

* CASH *	Gauges: www.stewartwarner.net	Y
S	S	GLD
O L D	P	8/11/2005
T	T O	8:08:31

Part Number 13 11101 13 11105 CO 7599 CO 44146-2 CO 15408 14 2022 CO 7599 17 4001 SH CENTER CONSOLE CV LS SUBLETLBR	RACK BELLOWS SOCKET, BALLPIN G-R STARTER	4 8 1 4 2 2 1 1	2.5600 6.6200 2.0600 5.1000 7.0500 6.6200	Core Tax Y Y Y Y Y Y Y Y Y Y Y N	Total 108.84 20.48 6.62 8.24 10.20 14.10 6.62 199.95 75.53 250.00
Operation Description UPHOLSTERY UPHOLSTERY Repair or reco	ver drivers seats	5		Seq Tax 8	<u>Price</u>
Mechanics Name GENERAL HELPERS	Shop Description RESTORATION SEATS FOR RESTOR	2005/06/3	Hours 2.00	Rate Tax 32.50 N	<u>Total</u> 65.00
GENERAL HELPERS REMOVE AND SCR	RESTORATION APE OFF OLD FOAM EW FOAMS. INSTALI	2005/07/0 . SANDBLAST	FRAMES. P	AINT	260.00
CARL FORD	RESTORATION ARING PADDING ANI			65.00 N	65.00
GENERAL HELPERS  ASSEMBLE SEATS	RESTORATION	2005/07/0		32.50 N	260.00
CARL FORD  ASSIST WITH IN	RESTORATION	2005/07/0 ATHER CUSHIC	06 1.00 ON COVERS		65.00
GENERAL HELPERS  ASSEMBLE SEATS	RESTORATION		26 4.75		154.38
ASSEMBLE SEATS GENERAL HELPERS CONTINUE TO AS LEATHER TOP AN	RESTORATION SEMBLE SEATS. INS	2005/07/0 STALL SEAT B	7.25	65.00 N ADJUST	471.25

OTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HAND	LING MISCELLANEOUS	LABOR	TAX
essly disclaims all warrar	ities, either express or implied, includ s nor authorizes any other person to a	se that may be offered by the manufacturer. I ding any implied warranties of merchantability assume for it any liability connection with the s or any consequential damages, damages to prop	or fitness for a particular sale of this part(s) and/or RY		PAY	THIS \$



CASH \*

Phones: (800) 444-5247 (JAGS) (805) 594-1585

(805) 544-1664 Fax: E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page 16

000000 Job Number 2 002438 PO#

SA Code AY

GLD

S H I P	8/11/2005
T	8:08:31

Mechanics Name Shop Description Date Hours Rate Tax GENERAL HELPERS RESTORATION 2005/07/08 2.75 32.50 N FINISH ASSEMBLY OF SEATS.	<u>Total</u> 89.38
CARL FORD RESTORATION 2005/07/25 3.00 65.00 N STRAIGHTEN OUT SHEET METAL AROUND GEARBOX AND INSTALL COVER. (INSTALL NEW J-NUTS). FABRICATE COVER FOR HOLE (ACCESS) FOR REVERSE LIGHT WIRES. INSTALL CENTER CONSOLE.	195.00
CARL FORD RESTORATION 2005/07/26 2.50 65.00 N GLUE GEARBOX CARPETS IN PLACE. INSTALL SEATS AND BELTS. VACUUM CAR.	162.50
CARL FORD RESTORATION 2005/07/28 2.00 65.00 N REMOVE CENTER ARMREST. STRIP DOWN AND PREP WOOD. TRIM OUT ARMREST WITH NEW FOAM AND LEATHER COVER. RE-ASSEMBLE AND IN-	130.00
STALL IN CAR.	
DITTED IN CIRC.	
Part Number Description Ret Oty Each Core Tax BD 21365/6G SUNVISOR SET 1 255.9600 Y	<u>Total</u> 255.96
BD 21365/6G SUNVISOR SET 1 255.9600 Y 19 0126 SEAT FOAM PAIR 1 239.1500 Y	239.15
19 0126   SEAT FOAM PAIR 1 239.1500 Y 19 0129   DIAPHRAGM PAIR 1 107.1400 Y UP 2400   SEAT COVER KIT 1 730.5500 Y BD 21365/6G   SUNVISOR SET 1 255.9600 Y	107.14
19 0129 DIAPHRAGM PAIR 1 107.1400 Y UP 2400 SEAT COVER KIT 1 730.5500 Y	730.55
BD 21365/6G SUNVISOR SET 1 255.9600 Y	255.96
19 0129 DIAPHRAGM PAIR D 1- 107.1400 Y RETURNED - DEFECTIVE	107.14-
19 0129 DIAPHRAGM PAIR 1 99.4300 Y	99.43
BD 21365/6G SUNVISOR SET N 1- 255.9600 Y  RETURNED - WRONG COLOR	255.96-
BD 21365/6G SUNVISOR SET N 1- 255.9600 Y	255.96-
RETURNED - WRONG COLOR, ORDERED TWICE.	
BD 21365/6F SUNVISOR SET 1 258.5700 Y	258.57
SH 363512220 SANDPAPER 220 10 .7500 Y	7.50
SH 363512400 SANDPAPER 400 10 .7500 Y	7.50
eration Description Seq Tax HAUST INSTALL OR REPAIR EXHAUST SYSTEMS 9	<u>Price</u>
	m - 1 - 1

Mechanics Name Shop Description Date Total Hours Rate Tax

SHIPPING & HANDLING TOTAL UNITS PART TOTAL RCVD. BY: \_



\* CASH \*

0 LD Phones: (800) 444-5247 (JAGS) (805) 594-1585

(805) 544-1664 E-mail: xksunltd@aol.com Jaguar: www.xks.com

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page

000000 2 002438 Job Number

PO# SA Code AY

> GLD 8/11/2005

> > 8:08:31

SH P

Shop Description Mechanics Name Date Hours Rate Tax 2005/07/25 DEFAULT 5.00 67.50 MIGUEL ACEVES ADJUST FRONT RIDE HEIGHT AND LOWER REAR COILS. INSTALL EXHAUST MANIFOLDS AND SS EXHAUST SYSTEM. DEFAULT 2005/07/26 .75 67.50 N 50.63 DARRELL HALL WELD EXHAUST 2005/08/09 3.50 67.50 236.25 MESMER DEFAULT N ERIC START CAR CHECK ALL LEVEL. PUT CAR ON LIFT FIXED NOISE PULL EXHAUST MACHINED ALUMINIUM SAPCER AND PUT IT TOGETHER PUT BACK EXHAUST SYSTEM. TEST DRIVE. Part Number Description Qty Each Tax Total 07 5026 SS EXHAUST KIT 1 999.9500 999.95

\*\*\*\* Assembly contains the following parts: PERF MUFFLER 1.00 07 FSJR302 1.00 07 FSJR303 INT. PIPE, RH 07 FSJR304 INT. PIPE, LH 1.00 07 FSJR305 RH REAR BOX 1.00 1.00 07 FSJR306 LH REAR BOX 07 1467 EXH. MOUNT KIT 1 110.0600 Y 110.06 \*\*\*\* Assembly contains the following parts: EXHAUST CLAMP 8.00 CO 33817SS WASHER, 3/8" 8.00 JA FW106-T JA JLM9542 EXHAUST MOUNT 1.00 4.00 07 MB3 EXHAUST MOUNT 16.00 07 1010 BRASS NUT TUBE HEADERS 301.7900 301.79 17 1500 1

Description Operation MISC. RESTORATION WORK RESTORATION

replace steering wheel with customer supplied unit replace front windshield and seal

Mechanics Name CARL FORD

Shop Description RESTORATION

Date 2005/07/15 Hours 4.00

Rate Tax

Seq Tax

10

Total

Price

TOTAL UNITS	PART TOTAL	CORETOTAL	SHIPPING	& HANDLING	MISCELLANEOUS	LABOR		TAX	
IMPORTANT: The only warranti	ies applying to this part(s) are those es, either express or implied, includir	that may be offered by the manufacturer. T ng any implied warranties of merchantability o sume for it any liability connection with the s	'he selling dealer hereby or fitness for a particular	RCVD.		ALLE SANCELLE	PAY THIS AMOUNT	\$	-



\* CASH \*

SOLD

(805) 594-1585 (805) 544-1664 Fax:

E-mail: xksunltd@aol.com Jaguar: www.xks.com

Phones: (800) 444-5247 (JAGS)

Land Rover: www.xkslandrover.com Cobra: www.cobrasbyxks.com Gauges: www.stewartwarner.net

PO#

B.A.R. #AH 141586 EPA #CAL 000039637 ESTIMATE Page 18

000000

Job Number 2 002438

SA Code AY

GLD

8/11/2005

8:08:31

S I P

MOVE CAR TO SHOP. PREP LIP AND DRY AROUND OPENING FOR WIND SCREEN. INSTALL WINDSCREEN AND SEAL. INSTALL LOWER CHROME. 4.00 2005/07/18 67.50 N 270.00 RESTORATION CARL FORD CLEAN AND INSTALL WINDSHIELD CHROME. INSTALL SUN VISORS. 2005/08/01 RESTORATION 1.00 45.00 N 45.00 GENERAL HELPERS Polished valve cover.

## XKSSH

Labor Total 17865.04 Misc. Total

527	37468.52	550.00		2401.07
TOTAL UNITS	PART TOTAL	CORE TOTAL	SHIPPING & HANDLING MISCELLANEO	DUS LABOR TAX

IMPORTANT. The only warranties applying to this partiel are those that may be offered by the manufacturer. The selling dealer hereby expressly disclaims all warranties, either express or implied, including any implied warranties of merchantability or fitness for a particular purpose, and neither assumes for authorizes any other person to assume for it any liability connection with the sale of this partiel and/or service. Buyer shall not be entitled to recover from the selling dealer any consequential damages, damages to property, damages for loss of use, loss of time, loss of profits, or income, or any other incidental damages.

RCVD.

\$8284.63